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Instructions :
HHATITE TG JEAHGRIN, GEha-1a TGN |
58l G 7 &1, a8 T Je F IR qeghd 7 & ford |
Answer all questions in Sanskrit, unless instructions are given
otherwise.

ST Fo797 AR GUST: Gl |
59 Y97-97 H AR @IS 3 |

There are four sections in this question paper.

Gus: % Tafed — JTEEgY_ (3Tafed — Taeied) 10 37T

SECTION A (Unseen Reading Comprehension)

gue: @ TR TATCHR UG, (F5hd H LT oiE ) 15 3

SECTION B (Writing Skills in Sanskrit)

Qug: T gfedrer — STaaIg" SRhadTgedaraied: =

(dfSamsr — Taeien U9 §%hd Hlgcd-3iaed &1 ai=d) 40 T
SECTION C (Reading Comprehension and Introduction

to History of Sanskrit Literature)
T ue: ° FCISAT: (Tg T AATR) 15 TS

SECTION D (Metres and Figures of Speech)
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. @Uz: % (SECTION A) -
AUTSa — T
arufea — sraaaq
Unseen Reading Comprehension 10 37gT:

1.  IIfaRad Tener qfdea YeaH YoM H&ehdd 3 |
frfTiaa s sl qgent TCT T TeHT < 3T §%hd H ST |

Read the following passage and answer the given questions in Sanskrit.

Ie foehrel: WA 3TToeq, d¢1 a8 HeY Uehd quieaH §8 A9aq |
quEd 9 geeal oTeHq | faeheal: Hgl e qufEaH 31aed — WA $eMl g
T AT | 79 AW et fed | 318 wd fovam oW | quEel wad, g
I=: BUg IRWT aed 9 — 378 q Wa=d HIgRUmHE SH TRy | & faeag
g meee foureRn difsa: oifed, wom Ay 9id Aifed | 9 Afg wisfy wad
STAVRAH T =9 gaIid qgl HaTge fovafawiRe a1 qed o wiosafa 2 @
IFAAH_ — T8 a0 ToIed A gty | A | warear Jeod 7 g 9 2 |
IFATH — T8 TFYU TSI GRATH | TIE Theq — $eHI Fa=aag HaH, wad:
FrURISI Hod had Taed Ueh: 9Neh: Afed, qGMY WaH &0 Hd: AR |
Tdd_ Hedt ﬁ:fmﬁ Tferdt S |

94T
() THUCH 3T | (hadd THgIH)
T g # I AR | (KA A 9H)
Answer in one word. (Only two questions) Ix9=9
(i) Toopgu: 1 AT=Bq ?
i) Tt o h: ITEH ?
(iii) 3 STA | Hol ?
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(9) qolaTeRH I | (Shadt TegIM)
Ul ST | ST I | (Shad &1 TRA)

Answer in a complete sentence. (Only two questions) 2x2=4

(i) et B T qIETH fery 3Taeq ?

(i) Tehrerea rpuitsT= oo fory atfeq 2

(it)) Trepeat: fepmef Tifea: aifeq 2
() = A= wEfA v foed |

39 DG o foTC Uk 3fies fafaw |

Write a suitable title for this passage. Ix1=1
(3) Fefcy™ ITRa | (hadl TvaTY)

FeTfey I T | (haa T T9 )

Answer as directed. (Only three questions) 1x3=3

() ‘oreEq sfa fopamuee shque g faean forea |

(i) vo=: soae foetde mens e foraa |

(ifi) ‘T8 ud favem TSR’ o1 ‘3Eq’ $fd FAAmHUE HEH YFdH ?

(iv) ‘@rarem’ gfd faewomes fassaae o 2

Wus: @ (SECTION B)
GEhd TATCHRAETH
HERA | [ATCHS orE=
Writing Skills in Sanskrit 15 3I:
2. AUIARIA-UCY I USTUGTH MY JsadTeRIT+ H&hae fored |
frfcTiad sregi § § foegl uter Segi ohl Sieh i I19 H&ehd H foIRaT |
Write five sentences in Sanskrit taking any five words given below as

base. Ix5=5

YT, TIEweh:, foranee e, STavm, &, STeaH, IS, hawd, fua |
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3.  ICAAAH g IIRad T AUy HEehdd 3T=ae fof@d | (RIamen)
fou e qei 6t weEa @ Fefafea foww w @5hd § Tg=eg fafau | (g8 ar)
Write a passage in Sanskrit with the help of given facts on the given topic.
(Ten sentences) —x10=5
o= - erem: U o9 ’
e I
A e
Sffe AN : SN : shigeN: &,
KIS BEICHS
3‘1’@31'{:
AT (OR)
o= - ferenemm
form am fopy
[ERIEISErfcE DI
Eﬁ'&'ﬁﬁ — iR — ST
FagAy foengTe gsa,
IYEEN: |
4.  FAfARGTaTRY RS USRI TR TS HEd |
Freaferfiaa armit & & Foredi e o1 Hea § S IR |
Translate any five sentences in Sanskrit of the following. Ix5=5
i) W foeme™ S g |
(i) &9 99 90§ Qed B |
(iii) a1 3R W1 T Ma et 7 |
(iv) 9% &0 4% 3 |
(v) o 99 %a Heryg foE |
(vi) H oft 9T ug fomm |
(vii) 99 9 B TRaT & |
) Ram goes to school.
(ii1)  We all play in the garden.
(iii) Lata and Rama sing a song.
(iv)  This is my book.
(v)  They all will write an essay tomorrow.
(vi) I have also read the lesson.
(vii) Fruit falls from the tree.
49 5 P.T.O.
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Qvus: T (SECTION C)
TTEATIT — AT FERAET e TAg T Ned: =
TfSameT — AU T TEha ATEed-3I0g™ &1 I

Reading Comprehension and Introduction
to History of Sanskrit Literature 40 37gT:

5.  AIGIRgd T gfecal agraTiaH, SR F%hdd 3T |
frefaRaa e il dgeRt 39 T UM AT o ITR H&ehd | QT |

Read the following passage and answer the given questions in Sanskrit. 5
TR

&ul-e0 B GUIRHRUI IEUSY  SEel | Ue-Ue  CIeRHET:
TN FHEHTEAT, T gedgedisd @rdl (Raigl) o w@ehEig fodfd |
UNd: U-FSESIes QAIGIHHH EHEH-J&0N, HEFaaaey JRHHHITE Sl
HeT F YA T haciihdid WA | W LR 91 wadd wE
areay” 3fq Favfasnsat Readem Fremmt fomfa |

TIT:

(1) THTCH I | (A TRTgIH)

T 31ee § IR AT | (Shaed & T9H)

Answer in one word. (Only two questions) 1x2=2
(i) T % JEUSY SEEA i ?
(i) Toradi=r =1 et 2
(iii) HTG HEwTq A faAfa 2
(9)  qoleTeR STRA | (had FeTgaw)
Ul I | I I | (Shad &1 TR)

Answer in a complete sentence. (Only two questions) 1 i><2=3
2

(i) e & gfaen A ?
(i) A ShIgIH ST ?
(i) <hIGIM: JEMET: FEH ATA ?




E]‘%
E=i

FYNfAIRGd Tl dlScal TEETRaH, YoM HEehdd 3aLd |
fferfiad Ter 1 gt 30 W AT J9H1 % IR Hehd | T |

Read the following poetry and answer the given questions in Sanskrit.

LB
AR gaf SR qUAd R R a R T ;|
TEIUTRAT Yeidiehed e, Tetefe fasrama: af= &=a: frema: 1|

TehUeH ITA | (Shadl J9gIH)
T g § I AT | (Fadt & )

3T
(37)

- EEE
e

EiE

Answer in one word. (Only two questions) 1x2=2

(i) T=d: M qadipaid ?
(1) 9-d: E=) 1Eﬁ: wafed ?
(ii) Tioefe % fowaf< 2

(F) qoiaTeRH ITA | (hadt TegaM)

EUCIER RIS IR E I CE SRS )

Answer in a complete sentence. (Only two questions) 1—x2=3

N |~

(i) FsoT: higam: waf ?
(i) Gsemt: T fastefe &m fawraf= 2
(iii) ¥=: Y e fomf< ?

AYIARGT TR FfScal AETETNAT T HEhad IA |
frfaRaad ATeams &l dgeht 38 W YT TeH1 o I &hd § T |

Read the following drama passage and answer the given questions in

Sanskrit.

ATSATI:

Foq: — UvAq pUREEERadY |

TE: — GEHENd 9 | TIHTIEH eI STHYE: |

goq: — &Y FHd ?

7@ — @t | ufeaHd fg IRty aekmey |
T 7 U999 ? I IqEEAT: Shatedl evgal Hufgues Waan: |
Ife = favcREdcg=aad |

ged: — %ﬁ%ﬁ:!ﬁmﬁﬁsw:qmﬂ:qﬁz%?

T —  (EeyEETeHTTas) ‘svany’ 3id W favafaaRar afrmmsiea:
FAAIRTE TEH Schufhy: |

49
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9T

(37) URUCH ITA | (Shad IIgIH)
T g § I T | (Fadt & )

Answer in one word. (Only two questions) I1x2=2
(i) FER: foh T9ag ?
(i) ARd: @@5{: 3:|ﬁv\_(‘f ?
(iii) CRIVE oh: Ui AfEd ?
(¥) qofaTeRE 3T | (had TwgIH)
ot e i s Afee | (e 3 )
Answer in a complete sentence. (Only two questions) 11x2=3
1) Teeh RTa: Eﬁ—g‘ﬂ'l: i ? ?
(i) ed: dferr b geafx ?

(i) &9: ‘sTvamy’ 3fq fow foh gefq 2

8.  UeHl Tgfaard: W Ao Sheal for@d | (shuTfeaq Iquiy)
yregi 1 Tgfea et & e ek fofae | (18 9R)

Match the words with their meanings and rewrite the same. ]
(Any four) —x4=2
2

ITsaT: 1o
(31) ER: o T
(¥) =T (i) e
(®) = (il) Ee,
(g) W&t (iv) 3Teuq
(@) 3Ty (v) HR:
@ Hem (vi) |REH:
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FITARIAY IRy TE@TTEATEIH Y TAHHI Hod | (ShuTfo=d FquId)
frafafigq o 4 Wafed 9 & smeur © ye= fmior hifse | (E =)

Frame questions on the basis of underlined words in the following

sentences. (Any four) I1x4=4

() U =y TeTegeed gy |

(i)  STEHTIN: Yeldl: Yehel: Fll: |

(iii) TG FETCAT T 9af=d |
(v) gfgrar Tsg 7 e |

(v) T SR eh: |

(vi) & Tiieh: weqen fawmr: a: |

FeifaRganaTy Neaeamyfd AesuucHeRaal $ed | (FE=eHe)
frafcfiaa wened # #es # fou ww wedl i wEwar @ i wUEi A fd
HITTC | (7 )

Fill in the blanks in the following explanations with the help of the words
as given in the box. (Any one) 3x1=3

(1) forn =nfaen = Teaggy @7 |
afern gy dical faems I
wrael:

o o

I: TH: TGRS CHRIIERET: I IWA: (1) Tad

R aTeSid | 9 (i) GHRE-EATd. Jod: e faem=maa

Gii) YT |

49
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e Fdd ki shH HHTR |

JTTFAN FThH FTAIT TE: ||

wrarel:

Tehd: TGN HST: HH (1) | 3T T LT HATOT T
el (i) WG T STISATH | SHTESA: Hcdl AN o
SH: 9 (iii) T |

oSt
U, STdcay, foer:, SHEF, THvay, 5H:

FTARgd-3Ta TRea I q@a | (hae THY)
freafefaa vetient o ot T Tl 1 gfd HifSe | (ke )

Fill in the blanks in the following prose-order-renderings of the verse.

(Only one) 3x1=3
HTCATSEN T HE N alsyd Teaiemms |

q o FerremeEfadd=m af wiedHamToReqEdTd ||

A

guTdfeRE T () Ty fosmiual ot | ®@ H
() W SRWIde (i) TF YA SR |

HAAT

qql IJuTaleigdeat T SIEHEtay |
U e & 9t fa=err: qaa==ea ||

AT
@ & ) auff  goraq, fafedieaE  ERTERIeESAE
() T SR i) |

10
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12.

ey I |
Femfeer I T |

Answer as directed.

(31)  whqug foramug =1 foga | (haery Ty

hdl Td fohamdg gMHT | (had Th)

Select the subject and the verb. (Only one)
(i) @ forfiaafies g e 39 |

(i) Efd = ey STemEg: fawy |

(@) foremwer foersd = foga | (hae, Tn)
foriwor 3R forerss ug gfaw | (haat wh)
Select the adjective and special word. (Only one)
(i) Tl wa srfared H AeITe |
(i) omwTare fg wafe fawf~r geAaeemen: |
(@) TR SgEd FEATHIG R YYEH ? (Shaci THhH)
1R o Y T ue fermeh fore yem feman R 2 2 (et wh)

In the following sentence for whom is the pronoun used
(Only one)

()  fSTed qEAfEhI: @ =9d: %Y g3ad |

o o

(i) Tafeqafqaerendiaaasmer 4 Teq edesesIned |

49
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FYITARGT T HETA T TEId hed T8I Th@eh: ? (haard THH)

feafafga o form o7 @ fo=m 1 8 3R TRl W@ hid @ ?
(helel Th)

From which book the following sentence is taken and who is its

writer. (Only one) 1
() Torfimgieae fohmg’ wH Husiarehmeed |
(i) 9 Ty, ATETET T HAT GAHAT o1 ST AT1Ed |

%: & SR ? (hacq THY)
I foroehl %E T 7 ? (had Th)
Who is saying this to whom ? (Only one) 1

(i) YA HY THIEEY: AU UG | 99 SIRcaaed-aoTdseh desil $e |

(i) TEUCYTE M ARTATATATATTY 3Tofcd T |

HATARIAY Hley HuTe= AU HelHTH Tehehd Hieqed T fored |
fatafaa wfaat 7 9 fordl o il & Tt ey o1 9 fafEn |
Write the names of any one work of any four poets of the
following poets. Ix4=4

JCeATE:, FUAE:, TYTHTY I, AfTahigaeaTd:, Ifosaursl-sr=ne:

FYITARIATY A wTETowd Fagul @eh™l AT+ foa@d |
frfarfaa et d & foredl wR & a@ehi & a1 fafEu |

Write the names of the authors of any four of the following
works. 1x4=4

TgayH, ffderaen, Jerg-gesdl, qTeofi-se, wyg-aTy:

12



E]‘%
E=i

14.

(3)

49

@vus: ¥ (SECTION D)
BRISAGRI:
Metres and Figures of Speech

T 3T | (had I

WA o I AT | (I Q)

Answer the questions. (Only two)

() = & foraa |

(i) ‘AfE 3o 1 O ?

(iii) ‘9af=d 33 T 3 oY Te: A1 ?
renfafgquitamsT. gere | (Shadt gzm)
fferfiaa afvrett =1 qof Hifse | (Sae an)

Complete the following definitions. (Only two)

(i) wfggesmagd |

(i) FIRAR NICSICEAIREE
(i) _ TEE oA g |

THE HeH: IqTel fored |

foreht T o 1 SeE forfE |

Write an example of any one of the metres.
AT, Ty

13

. E]F%
EiE

15 37T

I1x2=2

I1x2=2

Ix1=1
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FIfIRga-ateaay o b Te: ? (hadt 33H)
Freafefaa aferaai & -H @1 S 8 2 (had 1)

What is the metre in the following lines ? (Only three) Ix3=3

() TEerERd SeeEaacaddl SH: |

T ITHT Pod AlhEIGTAdd ||

(i) ITETCI=S Jgid foqd dea gy |
(iii) TRt ST T WS

(iv) S Werd 9 TG e HigH: |

HEIAIHET TeeTASE Hlereul el fored |
Teret U STegTERR T FIgET @ fafEu |

Write the definition and example of any one of the figure of speech

(YeSTAENR). 2x1=2

ITHH, I

hHaAHRT AATAER AHERW = foEd |
Had Ueh AATASR T AL T IS ARG |

Define and illustrate any ome of the figure of speech.

ERISEIYE 3x1=3
39HT, AATAITE:

14



E]‘%
E=i

49

. E]F%
EiE

FfARgauiesay % TAEA: ? (had gIq)

o o 0

frafafigd gfe=t o -8 w8 2 (had qr)

Indicate the figure of speech in the following lines. (Only two) I1x2=2

(i) HFAHE ITeAT favamay |
(i) v Sfayd faffuar wiogfiresta |

(it)) Sfasperarard fg foedt fawercamfa sgamear |

15



